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Note:~ You have four choices for sach objective type question as A B, C and D. The choice which you think is comect: Fill
that circle in front of that question number, Use marker or pen to fill the circles. Cutting or filling two or more circles
will resuttin zerc mark in that question,

{0) (G} @) (A) Queptions Q.1
ey prte bt ik s e Je S T00| 1
Car:dni;{t)er Mini Computer 'gii:gﬂ::': Super Computer |T-90 computer is an example of
S5k i iy i O JEIZHELENAC| 2
Prrt:ec:;ur g:zﬂlr;:g Vacume tube Transistor The technology used in ENIAC is

Del All Kl =+ Delete * * Del ** ednded L3 LensFievzng| 3
The command which |s used {0 delete
all files from disk

time format chkdisk xcopy < A6l pos| 4
One of the Dos “internal™ command is
Y7 /.‘ =4 Al g_tﬂJngéjlﬂ#g Y2 | 5

Printer Scanner Speaker Monitor The device which is used to get "hard

copy" as output
(1 U &l 7 e PN Ggnlcru| 6
ROM BIOS Cache Register Temporary storage tocation within CPU
is called
1 10 1 0 404 +1= At 7
In Boolkean Algebra, 1+0.1+1=_...
distributive | commutative law| conductive law | | associative faw < B b g Xav =Y +X| 8
'IJ.:!;:‘/“J‘ st L S X+Y=Y+X represents the law of
(1 O34 i 2 St feuncti| 9
ROM Hard Disk Compact disk (CO) RAM One of the volatile memory is
Lo > b #~ A SV MAN RN BT
Sub Track Cylinder Field Sector A subdivision of a track on a magnetic
disk iz called,

10100 10011 10010 10110 el ASAS 184 1
The decimal number 18 is equal to the
binary number

67 32 16 B e Bl £3fa, Fifds| 12
Unicode scheme is used for bit code.
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2. Attempt any SIX parts [2x6=12]

(i) Write any two uses of computer simulations in faboratories

{ii) Defing computer program with one example.
{ifi) Why we prefer compiler over interpreter
{iv) State the term EDP
{v) Explain the usefulness of pons in computer system.
{wi} State the advantage of voice recognition system.
{vii) Explain the use of electro thermal printer.
{viii) Write names of any four operating systems,

{ix) Define seek time,

3. Attempt any FIVE parts [2x5=10]
{l) Convert (27)10 into binary system.

{ii} State the importance of binary system.
{ilfy Convert (185.3), 4 into hexadecimal.

{v} Different between folder and drive
{vi) Write twa benefits of using antivirus program
(vii) what is the use of recyle bin

{viil} Define multi tasking

4, Attempt any FIVE parts [2x5=10]
(i) Why ROM is called Non volatile memory. Explain
{ii) Data is organized on sterage devices. Elaborate

{iii} Describe the purpose of main memory.

{iv} Differentiate between maxterm and minterm in Boolean function.

(v) State De Morgan's laws
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(vi) 11X=0,Y=1,Z=0 then find out the value of X.Y+XZ+X.Y (S adif XY +X.Z + XY Jrx=0, y=1, z=0.11 i

(vii) Explain the purpose of "LABEL" command with syntax

‘,_r)}f'g:““?,nﬁrm il

(viii} Differentiate between XCOPY and COPY command in DOS? < J/UU2 21 xcopyscopy LDOS - viii
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Note:- Aftempt any Three Question [7x3=21]

(a) Differentiate betweeon super computer and mainframe of computers. [3]

(b) Write down data bus and address bus [4]
{a) Write down four differences between LCD and CRT monilors. [4]
{b) Explain the difference between PROM and EPROM. [3]
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T(a). Calculate"-60-68" using 8-bit, 2's cempliment method

{b} convert answer in decimal. [2]

;,:/.;-J;‘(JLCVHJ;.,L?.‘ ()

Please register!
Visual Watermark



] - fu"fvﬁ e kemap (o) @ S ARE 1y (a) 8,20
fixy.z}= ;.Yz * x.; +XYZ
8. {a) Define Boolean expression,
(b) Solve the folowing Boolean funclion with tha help of K-map.  fxy.z) = XY.Z # X.Y + XY.Z
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{a} Differentiate betwesn compiler and interprater
{bYWrite down three features of Windows

g 4>
()% JiSey)
[x10=10] ¢/ S)rfic (s 1ed
5 v stepsL i S renamec /'Ju%.l:‘mli_k;ﬂ}.ﬁb’rtz-rJ{..rLﬁ_'! 10 A
10.{a} Write down the steps to creale a folder with your name and rename with your roll number on desktop.
25 v steps &3S bt l:b’}.:{z'-l(.,.
{b) Write down the steps to change the time and dale of your system,
o) - R
u= staps L4 S EUIEN Fus DA LI
{a) Write down the steps fo copy a folder from D:drive to E:\ drive, (5 marks)
v steps £ &Sl € et ) (o

(b} Write down the steps to {i} chang deskiop background (2 12 marks)
v steps L& Lok P Wy

(i} Setany screen saver {2 12 marks}
[2+2+2+2+2] LA F Sleps i) restoresClose:Minimize-Maximize s bs Sy

How would you maximize , Minimize, Close and restore the window
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